

SEGNA CON UNA X IL RISULTATO CORRETTO

$$\left(\frac{9}{4}\right)^0 = \quad \square \frac{9}{4} \quad \square 0 \quad \square 1 \quad \square \frac{49}{16}$$

---

$$\left(\frac{9}{4}\right)^1 = \quad \square \frac{9}{4} \quad \square 0 \quad \square 1 \quad \square \frac{49}{16}$$

---

$$\left(\frac{9}{4}\right)^2 = \quad \square \frac{9}{4} \quad \square 0 \quad \square 1 \quad \square \frac{49}{16}$$

---

$$\left(\frac{1}{6}\right)^0 = \quad \square \frac{1}{6} \quad \square 0 \quad \square 1 \quad \square \frac{1}{36}$$

---

$$\left(\frac{1}{6}\right)^1 = \quad \square \frac{1}{6} \quad \square 0 \quad \square 1 \quad \square \frac{1}{36}$$

---

$$\left(\frac{1}{6}\right)^2 = \quad \square \frac{1}{6} \quad \square 0 \quad \square 1 \quad \square \frac{1}{36}$$

---